)
radiowaves THE LEADER IN MICROWAVE ANTENNA INNOVATION

A I Ivzfﬂlﬂtﬂlll
Retrofit Kit for 3' (0.9M) Parabolic, Upgrade Existing
Direct Mount to Aviat WTM4100, 17.7 to 19.7 GHz - \

RFK-OEM-WTMR-3-18 (6

The Parabolic Reflector Retrofit Kits by RadioWaves allow previously deployed Antennas to be upgraded to the latest radios on the
market. These kits come with new feed horns, interface, and mounting hardware needed for rapid installation, under budget!

The RFK-OEM-WTMR-3-18 will allow you to directly interface an existing direct mount HP3 parabolic antenna to an Aviat WTM4100
series radio. This kit is designed for 3 ft | 0.9 m reflectors to be coupled with radios operating from 17.7 GHz to 19.7 GHz Frequency
range with Single Polarization Rectanglular waveguide interface. If it's rugged, it must be RadioWaves!

General Specifications

Antenna Type Parabolic Reflector Retrofit Kit Radio Manufacturer Aviat
Size, nominal 3ft10.9m Polarization Single
Waveguide Rectanglular

Electrical Specifications

Operating Frequency Band 17.7 GHz to 19.7 GHz

1 © 2024 Alive Telecom, Inc. RadioWaves is a registered trademark of Alive Telecom, Inc.
+1 (978) 459-8800 | sales@radiowaves.com | radiowaves.com



tel:+1(978)459-8800
mailto:sales@radiowaves.com
https://www.radiowaves.com

)

radiowaves

A I IV E Telecom

THE LEADER IN MICROWAVE ANTENNA INNOVATION

8 | 7 | & 5 n 4 | 3 | 2 1
THE INFORMATION COMTAINED IN THIS DRAWING IS THE SOLE DEVTIONS
PROPERTY OF RADICWAVES, INC. ANY REPRODUCTION IN PART OR REV DESCRITION DATE | APPROVED
WHOLE WITHOUT THE WRITTEN PERMISSION OF L-COM. INC. 15 PROHIBITED. & Ibis sesase o P
f( D
—1
HEEOO
~7 b= L,
o (]
Ot 1)1 : —
(Ol I : @
( 13.9 ) o=
[353]
G
D=
1 1 1 2 ITEM NO. PART/SUB-ASSY NO. DESCRIPTION aQry ¢
! 1 1 106380-318 FEED ASSY,3FT,17.7-19.7GHLHFWTMR 1
- - 2* 106348-5 PLATE.MOUNT,WTM AND ODU,COMBINED 1
3 106369-2 SPACER,MOUNT,3"-4' DIA 4
4* SP14-20.10-1 SCREW,PAN HD,35,1/4-20 X 7/8 8
5" W514.55-1 WASHER,LOCK,SPLIT,S5,1/4 8 8
3 = [ SP14-20.09-1 SCREW,PAN HD,$S,1/4-20 X 3/4 8
® I ® 7 didad WS14.55-1 WASHER,LOCK,SPLIT.55.1/4 8
0o ® @ g SP10-32.07-1 SCREW,PAN HD,SS, #10-32 X 1/2 4
g WS510.55-1 WASHER,LOCK,SPLIT.S3.#10 4
10 FP106785-34 PROCEDURE,FIELD,DIRECT MOUNT RADIO,3-4FT 1
10.0
( [254] ITEMS MARKED WITH A " * " ARE PART OF KIT 106771-1
ITEMS MARKED WITH A " ** " ARE PART OF KIT 106772-1
TEMS MARKED WITH A " *** " ARE PART OF KIT 106773-1
U;‘-“;I;‘EES‘S}E;T‘:\;ISIE_SPEC:FII:&‘L APPROVALS DATE -"a\ :f:ﬁgg:;ﬁg;_“w" Andover,
CVERALL CABLE LEN LERANCE: [DRaww BY o radiowaves Phone: 1.978.459.8800
12 125/ 0 S P T 1.978.495.3310
] el A
( 10,0 ) ,|m|xm1%i?g]u:£5ﬂom RFK
[25'4] OTHER D?s-s:cm I-.=1;) [r: HCE . PRODUCT DESCRIFTION
M .g??{.s]' Cmcod | QSRS | RETROFIT KIT, AVIAT-WTMA4100, 3FT, 17.7 -
e 2005 13) | AmclEs:t” MAY VARY 19.7GHZ
THIRD-ARGLE PROJECTION COLOR VARIATIONS SUE | CAGE CODE [mem NO. REV.
@ ﬂ kv OCCUR A | 12EE8 RFK-OEM-WIMR-3-18 | A
. SCALE: NONE IC-‘D FILE: RFE-OEM-WTMR-3- 18, 5LD0DRW Is‘!” 10F 1
T ¥ T T
8 7 b 5 4 3 2 1

© 2024 Alive Telecom, Inc. RadioWaves is a registered trademark of Alive Telecom, Inc.

+1 (978) 459-8800 | sales@radiowaves.com | radiowaves.com


javascript:void(0)
tel:+1(978)459-8800
mailto:sales@radiowaves.com
https://www.radiowaves.com

	Retrofit Kit for 3' (0.9M) Parabolic, Upgrade Existing Direct Mount to Aviat WTM4100, 17.7 to 19.7 GHz
	RFK-OEM-WTMR-3-18
	TECHNICAL DRAWINGS


